Raices Cubicas (E)

Halle cada raiz.

/8000 = 327000 = 5832
/29791 = B35S = 97336
V1,000 = 39319 = /32,768
/125 = Jes000 = Y729
J85184 = JL728 = 8000
J512 - 15625 =_ /46,656
J19683 = /64000 =_ /85184
J17576 = 125000 = <9261
929791 = 35937 = <8
/50,653 = Y2744 = 7729
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Raices Cubicas (E) Respuestas

Halle cada raiz.

J/8.000 20 J/27.000 30 J5.832

J29,791 =31 3375 =15 97336

J1,000 =10 J59319 =39 32,768
3125 =5 J64,000 =40 3729

85184 =44 J1,728 =12 /8,000

Y512 =8 J15,625 =25 /46,656
J19,683 =27 764,000 =40 /85,184
17,576 =26 J125,000 =50 39,261
329791 =31 ¥35937 =33 78
50,653 =37 2744 =14 3729
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